> A
A & 0l & AF 2 E A A
20188 204 SSHANZLESEIA SN
AN ISR 0
B =30% 34 U 29
©€el: s3EX 2 (s3HNELESE35H) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Il Xl 3,255,441 240,400 3,015,041
s3HA =24 & 29 3,255,441 240,400 3,015,041
s34 2ol (s3EHNELEEE3A) 3,255,441 240,400 3,015,041
Ss3 R 22 224,500 65,300 159,200
101 @14 dl 6,000 6,000 0
04 JI2ZtHZ22HEE =+ 6,000 6,000 0
O SZTEX F# 2Ly AL
100,000 x2Z x5 x6 & 6,000
201 LBt 24,500 25,300 A 800
01 At 22l 11,600 11,600 0
O £e2d9y| 11,600
— SSHA 2E Let=8d|
300,000& =122 3,600
— S3HA YA HAMHS 222 WA
2,000& x3,000% 6,000
— ZEH EW ¥ EEFY 400,000 504 2,000
02 =224l 12,900 12,900 0
O =224 HAl 12,900
- s38¢XEIIes 1,000,000& »12& 12,000
STOX BEYE 92 QBE
3,000& 3002 900
202 O4dl 7,200 7,200 0
01 = LH 4 Hi 7,200 7,200 0
O sZ3=X 22l ol
20,0003 «2H 15 128 7,200
206 M= Hl 6,000 6,000 0
01 M= 4l 6,000 6,000 0
s3HX SFFH MHaZHl 6,000
— MUAS)| Y HAE YAUE
600,000& *13] 600
— H=z2 & &4H 2 350,000& *43] 1,400
- 83T = 7Y 1,000,000& *43] 4,000
301 et d = 800 800 0
09 AL HI 2 &S 800 800 0
O 528X YEYH 25
10,000& x20H 43| 800
401 A& HIZ 201 8] 180,000 20,000 160,000
01 A& HI 180,000 20,000 160,000
O ZEH2s3HA dAEZ MHE JI2 € &
ANEH 100,000, 000& 100,000
O ¥Es3HX =8¢ ZHAE 30,000,000 30,000
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R A= PRIy

i =DOX XA U 2
(=R B OO T o =< —_ o
tel: sZHX 2el(s2HANTLESEIA)

SN HH-S(BN) - MBAY - B il HlnE2
O ZBH2sZ2HX JYE2 e HIEX 04
2l 50,000,000& 50,000
=3 SRl ollbl bl 3,030,941 2,855,841
801 Gilbl bl 3,030,941 2,855,841
01 BHoil bl bl 3,030,941 2,855,841
O ollbgldl 3,030,941,000& 3,030,941
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